% )t O B

B |4 K B B (X #8) ® BB (X #)
R N N E N TN )
2 20 | V¥ PAR—=YII7 (& &) | 8 8 & % H F (£ %)
3 21 | =2 # A ¥ — X (B8 B)| X k& 7 7 7 (8 M)
4 2 | Py AR—=Y2r77 (& B) | BELRERBREE Y 7 7 (#84H)
5 2 | VY FPRAR—=YI777 (& &) | ELHEBRIEE Y 7 7 (F&H)
6 24 | VXYV T AR—=YITT (& B) | F—2bhro>WVWbBYE (F %)
7 25 | VT AR—=YITT (@ )| v H VU SSE 7 T T (& &)
8 |26 | 7 = m — X (8 @) | VYAV 2AEHELEFRE (& &)
9 27 ELTRBIEEI 7 (8#8K) | VYV T7AR—=YI7TFT (& &)
10 | 28 | Y v 7PRAR=YI275F (& &) | v 2 % 7 F 7 (& £)
11 | 29 | PV TRAR=Y 25T (& &) | v 2 % 27 F 7 (& £)
12 30 T+—TA4—T7ANR—=X (B &) | V¥V TRAR—=UIFT (& &)
B | PRl vrvrai—vrs7 (@) | KL EF R 2 T T (FBE)
14 2 T3 —T A4 =T 7A7—X (& &) VX VT AR—=II7FT (& &)
15 3 TH+—T4—T7AR—X (B &) 7 = 1:1 — X (B %)
16 4 T3 —T A4 =T 7A7—X (& &) VX VT AR—=II7FT (& &)
17 5 VXV SRAR—=Y 5T (@ K)| S = v F b X (FE W)
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